THICFEOAMIEFER/UDRN I

SH6E6R1TH(FEERT)
1 FEEAS&
%%qGETE%%ﬂ%%ﬁ%ﬁﬁifﬁwwﬂ%bﬁﬁ’é‘ii\ INVEEMNZROHSNDEFRIZ DV THR %
RIFTERT D,
2 BT HMER
<—&E5> (847 FA)
X 2 Wt T &5 CRAHIEZR R %@
% ¥ 5 332,129,902 6,600 332,136,502
H A g 2 170,500,115 7,019 170,507,134
z ) it 593,069,983 — 593,069,983
g 1,095,700,000 13,619 1,095713,619
<$FRIEF> (BikTH)
X v HEtFE% 6 A #E%E 2 i |
HEEERNRENI0SE 562,928,298 — 562,928,298
=t 562,928,298 — 562,928,298
<tEXFH> (B FH)
X v Rt P& OB fE%E 2 i |
mhREBEXESFTFN28ET 56,256,018 — 56,256,018
£t 56,256,018 — 56,256,018




